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QUESTION 1

The Rebalance Container action can be run against which two objects? (Choose three.) 

A. Cluster 

B. Data center 

C. Custom data center 

D. Host 

E. Virtual machine 

Correct Answer: ABC 

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-61/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-77F1DC04-5541-43D6-97C9-FA30282F605F.html 

 

QUESTION 2

Which view type would display a tabular data set of specific objects in a monitored environment? (Choose the best
answer.) 

A. List 

B. Distribution 

C. Text 

D. Trend 

Correct Answer: A 

Reference https://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-6EA000E9-0127-45A3-AF31-322EDCFB9EC8.html 

 

QUESTION 3

When importing an Access Control Group via Open LDAP, which three options are available? (Choose three.) 

A. Email address for lookup. 

B. Basic Integration, which allows input of domain/subdomain. 

C. Two-factor authentication via VMware Identity Manager. 

D. Advanced Integration, which allows input of Host and Base DN. 

E. The use of SSL/TLS. 
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Correct Answer: CDE 

 

QUESTION 4

What are two valid scenarios that can be added to a project for a cluster compute resource? (Choose two.) 

A. Add Virtual Machine 

B. Add Host System 

C. Add Network Capacity 

D. Add IOPS to Cluster 

E. Add Costs of New Capacity 

Correct Answer: DE 

 

QUESTION 5

What is the maximum supported number of analytic nodes in a single vRealize Operations cluster? (Choose the best
answer.) 

A. 16 

B. 8 

C. 32 

D. 64 

Correct Answer: B 

Reference http://www.virtualizationblog.com/vrealize-operations-manager-sizing-guidelines/ 
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